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= 3,120,200
NG 285 (& - SAINY/RPALERRA) 6,320,200 9,224,105 22,903,905
= 3,200,000
= 3,120,200
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= 3,200,000
= 3,120,200
e =dg 3,120,200 15,865 3,104,335
201 Let2EH| 4,000 4,000 0
01 AtE22lHl 4,000 4,000 0
OZMLAY =& LBt=ZH| 50,000& x205 43 4,000
202 O4H| 8,080 11,865 23,785
01 =Wl 8,080 11,865 AN3,785
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— 2o Yl 20,0003 *4 & »502] 4,000
— 22| (4 Hl 85,000 x3H 163 4,080
401 AlZHIL LTI 3,088, 120 0 3,058,120
01 Al&H| 3,088,120 0 3,058,120
OIS EX0HY 3,000,000
—EMXNES(5H) 1,500, 000,000 1,500,000
—SAHESX HY 1302 X 1,500,000,000& 1,500,000
OZ&EEI==Z 150,000 «262Z Xl 39,300
O8Jl==g 14,0003 1302 X 1,820
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402 2I2HXHE01M 50,000 0 50,000

01 It E2LEX 50,000 0 50,000
OZ2gE a1 100,000, 000& *1A1%50/100 50,000

SAUBAATT] H-SL HMelAld &X 3,200,000 800,000 2,400,000
= 3,200,000

401 Al&HI YL SO 3,200,000 800,000 2,400,000
= 3,200,000

01 AlZHI 3,200,000 782,091 2,417,909
OZHIEZ ALY 3,200,000
—SLLBAAER HE=SEMUAE EXISA 3,200,000,000& * 14| 3,200,000
= 3,200,000




